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|Find the domain of the function y =‘\’1 -x*)
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|What is meant by 3 f(x) @.?]
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|Write the first principle of%f for the function y = f(x).]

y
o 1 y = f(x) TR T P B W T o fx) =

f(x+h) - f(x)
h
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|If y = e™ then what is (v,)o?]
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() G TS y = f((x) FRHAG x = a TS TRETF =7 |
[Which is the condition where the function y = f(x) is increasing at x =
a.]
©&F : I f'(a) > 0 W@ x = a [T y = f(x) TG FRETH =09 |
(5) TPR*TE B3 AW 7

[What is the extreme value of t function?]
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[What is called constant of integration?]
TG : Y DA & Jf(xlfx=dx+c T = | ¢ F 3o
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[Write down the Walk's formula.]
T = AW n @APRIGT TRAT T 94,
(n-Dm-3).... 531 =
[Fsintxdx= 2o demq 0D 642 2 T n e
Zgin'xdx=| 2 xdx=
0 0 (n-D(n-3) T 6-4-2 T n RreTS
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|Find the value ofjm—n(in—xldx.]

T8 : In sec (Inx) +c¢
(8) r=a (1 + cosB) I TG 97 |
[Sketch the figure of the curve r=a (1 + cosB).]
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1+x where - 1<x<0
[f(x) =91-x where 0<x<1 Find domain and range of the given
0 where 1<x

function f(x).]
© 1 W y=sin (m sin™ x) & & @8 @, (1 =X )Yz ~(20+1)Xypey + (m° -

n’)y, =0.
[If y = sin (m sin™" x) then show that, (I —x*)yn2 —(2n+1)Xype + (M” —
nz)yn =0.

81 (FF @M JAMCO f(x) =5+ 12x — X’ TRAAT Jra 8 JF 21 of 7 f7
o] |

[Find out the intervals where the function f(x) = 5 + 12x - x* are
increasing and decreasing,
¢ W fAfaen [Evaluate] :
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(F) f In (1 + tan0)do,
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1 Zr+ 3 = 1Ellipse WA SIRG CRUAR CRAF AT

[Find the area of the region bounded by the curve §1r+ “;-)'r =1.]
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a T fx)=|x - 1|+ |x+ 3 WS x =-3 ¢ x = | [Fre Frema
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[If f(x) = |x — 1|+ |x + 3| then discuss the continuity and differentiability of
the functionat x=-3 and x=1]

I (F) I y=cos {In (1 +x)} T, BT A8 @, (1 + x)’ym2 + 20+1) (1

+ X)yur1 + (n* + y.=0. [If y =cos {1n (1 + x)} then show that (1 +
X)Yae2 + 20+1) (1 + X)yper + (0 + 1)y, =0.]

(A [-3, %] TS f(x) = X° - 3x + 2 FREADGY 70 8 W 7= Fd7
*q1
[Find the maximum and minimum values of the function f(x) = x’ —

3x + 2 in the interval [—3,%].]
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51 () (IS A, f In ((sin x) dx=-§ln2_

0
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[Show that f In((sinx) dx=- %In 2]

0
dx
q) FTFEE: | ————
) I(1+x2)ﬂ

[Integrate : Id—x]
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[Find the volume obtained by revolution of the area enclosed between the
curve 27ay’ = 4(x - 2a)’ and the curve y* = 4ax ]
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